HERNB—E (FEERA) R5.9.22 #RTTEEARER

3 RR—WViHEss A B c
o e
) W M L st

KB HBENEE HEE 1,680 = 2430 750 145 M/h
ZiE5-gEE- 5 EE 840 - 1,160 320 1.38] HM/h
5iE5 (EAFIH) 60 = 150 90 250 M/M@E
SEE 1,110 = 540 | A 570 0.49| M/h
SEE 280 - 340 60 121 FA/h
INRERE 160 = 190 30 1.19] A/h
EEi5 100 = 100 0 1.00 FA/h
HRBAE A A [ P D1 ~ 3] = 0 M/h
AEEFERAN AR 7—F 9,670 - 9,670 0 1.00| F/h
BT 6,020 - 6,020 0 1.00| F/h
EE 7—F 4,830 = 4,830 0 1.00 FM/h
BT 3,020 - 3,020 0 1.00| F/h
BB LRAFE HEE 450 - 670 220 149 HA/h
SEE 230 - 340 110 148/ F/h
X ER f 60 - 0 A 60 0.00 F/h
AEEERAN "B {E A D4E = 0 M/h
B R D2E - 0 F/h

MR ZAEE- AL EAEE AEE 910 = 1,350 440 148] A/ | zR—wSURHESR

REBE 320 - 540 220 169 M/h 0985-20-5151

Jigedl] 130 = 0| A130 0.00| M/h
AEEERN "B {E A D4E = 0 M/h
EE AR D2E - 0 M/h
X RABEE HEE 1,680 = 2430 750 145 M/h
SEE 630 = 540 A 90 0.86| FM/h
RBAR AN [ P D1 ~ 3] = 0 M/h
AEEERAN SBE 100 = o aA100 0.00 F/h
ErRAEKEE T)—F 870 = 1350 480 155 M/h
BIKE 210 = 360 150 171 A/h
HEARELE HEE 430 870 1350 920 3.14| HM/h
BEKREE - NLASE REEAREE |KEE 150 370 670 520 447 HM/h
BRAFE REH KIS 430 1,180 2430 2,000 565 M/h
Li:Esd ] 250 - 360 110 1.44] F/nh
IR R—Y 82— E—HEE 340 180 1,350 1,010 397 H/h
RS 110 - 360 250 327 H/h
F=—Zxa—hk 130 - 700 570 538 FM/h
¥I— 100 = 0| A100 0.00| FM/Mm
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HiEE X REERE 100 = 360 260 360, M/h
R E T EES 150 - 360 210 240 HM/h
EEL—=2 T 8— 150 - 360 210 240 HM/h
B&GH¥F @t 2— |KAEHE T)—F 430 870 1350 920 3.14| HM/h
S—FAVTIN—L W 3% {58 FR A 100 - 340 240 340 HM/h
MEREAN 100 = 0| A100 0.00 HM/h
T—I - 100 - 150 50 150, F/h
PN £ RPEEE LS ZEHMTTIUR 0 630 1,260 1,260 M/h
BRI 6.600 - 1,260 | A 5340 0.19| M/h
F=—A3—hk 0 210 420 420 M/h
HURR—YSURER ZEHMTIIUR 250 670 940 690 376 M/h
T=A3—k W 3% {58 FR A 340 = 700 360 206/ M/h
REAER 780 = 510 | A 270 0.65| M/h
F—rR—ILi5 220 - 310 90 141 FM/nh
BERR—Y/—4 AN —bRKR—VIEE BAER 200 = 300 100 150 M/B
N BBPRARE F=—Ra—hk 630 - 700 70 111 A/h
EHOMEEGLAE TAE—RETT Ls JI9UR 1,680 = 2520 840 150 F/h
BHHES 150 - 360 210 240 FM/h
A—IVTa—F— 50 = 360 310 720 FM/h
AR 630 = 630 0 1.00 FA/h
REAER 7,750 = 7,750 0 1.00 FA/h
AREBE MEE% 3 AR A 510 = 540 30 1.06| F/h
AEEFERAN 420 - 0| A42 0.00 M/h
INSEBEA e 2% {5 AR 100 = 190 90 1.90, F/h
AEEFERAN 50 = 0 A 50 0.00 M/h
INSEBEB e 2% {5 AR 200 = 340 140 170, F/h
AEEFERAN 100 - 0| A100 0.00 M/h
BEE=E HE % {58 FA A 100 = 190 90 1.90 FA/h
AEEFERAN 50 = 0 A 50 0.00 M/h
IiEE MEE% 3 AR A 200 = 340 140 170, F/h
AEEFERAN 100 - 0| A100 0.00 M/h
ZAaA7HR—K 730 = 730 0 1.00| A/&RAE
bl 630 = 630 0 1.00| FA/H
FE28kI5 G39UR 840 - 1,260 420 1.50] F/h
REAER I 4,400 = 4,400 0 1.00 FA/h
ZAaA7HR—K 730 = 730 0 1.00| A/&AE

RR—YSUR R
0985-20-5151
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DN £ BOMEBLE IFAUR—L 7—7 840 - 1,260 420 1.50] F/h
Ft AR 160 - 360 200 225 FM/h
REAER 1,260 = 1,260 0 1.00 FA/h
S—FAUTI—L HE % {58 FA A 200 = 340 140 1.70| F/nh
AEEFERAN 150 = 0| A150 0.00 M/h
KRB 7)—F 1,260 = 1350 90 107 A/h
REAER 930 = 0| A930 0.00| M/h
SEE1-2 MEE% 3 AR A 200 = 340 140 1.70 A/h
AEEFERAN 200 = 0| A200 0.00 M/h
F=A3d—hk MEERfE A 630 - 700 70 111 A/h
REAER s 510 = 51 0 1.00 FA/h
EE®R HE % {58 FA A 200 - 340 140 1.70| F/nh
AEEFERAN 150 = 0| A150 0.00 M/h
ZEHMTTIURA 840 - 1,260 420 1.50] F/h
ZEHMYSIUKB KRZ (1HEIZDE) 840 - 1,260 420 1.50] F/h
AIZ 1,260 = 1,890 630 150 F/h

BB 1,260 = 1,260 0 100 F/h x"f)g_ggzg_ ;f%]ﬁ;*
R bR S GI9UR GilZ 1,680 - 2420 740 1.44| FM/h
‘’EE HE % {58 FA A 100 = 190 90 1.90| F/h
AEEFERAN 100 = 0| A100 0.00 M/h
KERE MEE% 3 AR A 100 = 190 90 1.90, F/h
AEEFERAN 100 = 0| A100 0.00 M/h
BERE MEE% 3 AR A 100 = 190 90 1.90, F/h
AEEFERAN 100 = 0| A100 0.00 M/h
SEE MEE% 3 AR A 150 = 190 40 127 A/h
AEEFERAN 100 = 0| A100 0.00 M/h
EHB=E HE % {58 FA A 100 = 190 90 1.90 FA/h
AEEFERAN 100 = 0| A100 0.00 M/h
EHE HE % {58 FA A 100 = 190 90 1.90 FA/h
AEEFERAN 100 = 0| A100 0.00 M/h
HuE=E HE % {58 FA A 510 = 190 | A 320 0.37| HM/h
AEEFERAN 100 = 0| A100 0.00 M/h
EEi5 100 = 100 0 1.00| FA/H
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AR ENE Fekis Tk 1,040 - 1,260 220 121 HA/h
REAER s 320 = 4400 | A 2920 0.60| M/h
AEE(BERBET) HE % {58 FA A 1,040 = 630 | A 410 061 M/h
AEEFERAN 510 - 0| AS510 0.00 M/h
Z2a7HR—F 630 = 730 100 1.16| A/&RAE
BRE 510 = 0| AS510 0.00|M/F—Ls
v — 100 = 0| A100 0.00| FM/M@
RE L 3REIS 200 620 1,260 1,060 6.30| FM/h
T=A3—hk W 3% {58 AR A 310 = 700 390 226/ M/h
REAER 510 = 510 0 1.00 FA/h
I — 100 = 0| A100 0.00| FM/M@
5iES BEA 100 = 150 50 1.50] F/[E
Mo S ES BEA 100 = 150 50 1.50 F/[E
IRE—T) T2 R—HT LT 250 = 250 0 1.00] A/A
HEESNE EZELNlN GI9UR 940 - 1,260 320 1.34| FM/nh
FREAER A S AR 510 = 510 0 1.00 FA/h
Frkis Tk 560 - 1,060 500 1.89] M/h
BRI 6.600 - 3,710 | A 2890 056 M/h
Z2a7HR—K 200 - 730 530 365 A/&HE
F=—Ra—hk HL— 310 - 420 110 1.35| F/h
BAYAIZ 510 = 700 190 1.37 A/h
HEE 240 = 360 120 150 F/h
5iE% A 100 = 150 50 1.50] F/[@
P g ZNE Frkis Tk 250 670 840 590 336 F/h
BB 4,360 - 2,590 [ A 1,770 059 F/h
KB 7)—F 310 1,060 2430 2,120 7.84| M/h
FHEMEEK 510 - 540 30 1.06| F/h
55 —ReERE 100 = 150 50 1.50] M/[@
EEI5 200 = 200 0 1.00| FA/H
ARREEHLE SOKKENRAT 7 L GI9UR 630 1470 2520 1,890 400, M/h
ZRa7HR—F 420 = 730 310 1.74| A/&RE
AEE(BERBET) HE % {58 FA A 630 = 630 0 1.00| F/h
AEEFERAN 150 - 0| A150 0.00 M/h
OyA—IL—L HE % {58 FA A 510 = 0| AS510 0.00|A/F—Ls
AEEFERAN 250 - 0| A25 0.00 M/h
Ty — 100 = 0| A100 0.00 F/[E

AR—YSURHEHER
0985-20-5151
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(R6~R7) E = ELEHEE
DN ARREEHLE SOKKENRAT7 Ly EHE HE % {58 FA A 100 = 190 90 1.90 FA/h
AEEFERAN 50 = 0 A 50 0.00 M/h
BHIEE MEE% 5 AR A 100 = 190 90 1.90, F/h
AEEFERAN 50 = 0 A 50 0.00 M/h
ZEMNE MEE% 3 AR A 100 = 190 90 1.90, F/h
AEEFERAN 50 = 0 A 50 0.00 M/h
SEE e 2% {5 AR 200 = 190 A 10 095 FM/h
AEEFERAN 100 = 0| A100 0.00 M/h
SEE2 e 2% {5 AR 100 = 190 90 1.90, F/h
ABEEFERAN 50 = 0 A 50 0.00 M/h
EEI—F=F MEE% 3 AR A 200 = 190 A 10 095 FM/h
AEEFERAN 100 = 0| A100 0.00 M/h
REE HE % {58 FA A 100 = 190 90 1.90| F/h
AEEFERAN 50 = 0 A 50 0.00 M/h
FRUAEHLE SOKKENRATT Ly BEEE RS A% AL 100 = 190 920 1.90 FM/h
AEEFERAN 50 = 0 A 50 0.00 M/h
EERER AEEFERAN 200 = 0| 4200 0.00| M/h
HE 160 = 360 200 225 F/h | zR—wsoRHgS
E2HERIG F59UR 630 1,050 1,260 630 200 M/h 0985-20-5151
ZRa7HR—F 420 = 730 310 1.74| A/&RE
BOEE (BERFEET) RS A% AL 630 - 630 0 1.00 FM/h
AEEFERAN 50 = 0 A 50 0.00 M/h
BHIEE MEE% 3 AR A 100 = 190 90 1.90, F/h
AEEFERAN 50 = 0 A 50 0.00 M/h
ZEMNE MEE% 3 AR A 100 = 190 90 1.90, F/h
AEEFERAN 50 = 0 A 50 0.00 M/h
BREHES S BEGE S 320 - 360 40 113 A/h
REAER s 200 = 0| 4200 0.00| M/h
BRERF—L W 3% {58 FR A 490 = 740 250 151 MA/h
BRI 2,660 - 740 | A 1,920 0.28) F/h
I — 100 = 0| A100 0.00| FM/M@
f—=2T%F A 310 = 310 0 1.00] A/A
SEE MEE% 5 A A 200 = 190 A 10 095 FM/h
AEEFERAN 100 = 0| A100 0.00 M/h
F17=-Xa—hk MEERfE AR 630 - 940 310 1.49] FA/h
REAER I 510 = 510 0 1.00 FA/h
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(R6~R7) E = ELEHEE
DN ARREEHLE g27=-_Xa—hk W 3% {58 FR A 630 = 700 70 111 A/h
REAER s 510 = 510 0 1.00 FA/h
EEE MEE% 5 AR A 200 - 190 A 10 095 FM/h
AREEAN 100 - 0| A100 000 F/h | zR—ySURHESE
ZAMISHIUR % {3 A A 1,080 - 1,260 180 117 A/n 0985-20-5151
BRI 2,130 - 1,260 | A 870 059 M/h
%2 BWILS 270 690 1,260 990 467 H/h
5iE5 BEA —RERE 100 = 150 50 1.50] F/[E
BTSRRIk JR SR A N B % BWILEG 840 - 1,260 420 150 FM/h
F=Ra—k 630 - 700 70 111 FA/h
£BE2E T=R3—h 630 = 700 70 111 A/h NEGhE
FOELE X BTG 840 - 840 0 1.00 FA/h 0985-21-1814
ZEMRAR—YILG 840 - 1,260 420 150 FM/h
F=Ra—k 630 - 700 70 111 FA/h
&/ T oE F=—Ra—hk 630 - 700 70 111 A/h ER MR
PIEEANES| F=—Ra—k 630 - 700 70 111 F/h 0985-85-1106
BANERE L S— FE=E 960 = 1,350 390 141 A/h gfg’s‘f;ﬁf%%
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